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	Calculate the size of the missing angle
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Question 2:  Calculate the size of the missing angles
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Peynords

Pobygon: O 2D shape mace wih stragh ines

Scalere triange: o triande. vith al different sides and andes

Isosceles triange: a triangle with two andes the same. sze and two anges the. same size
Rght-anged triangk: a ke wih a rgpl. angee
Frequency:the number of tmes a data valve. occurs

Sector: part of a circle made by two racdi towching the centre
Rotation: tum i a guen direction

Protractor: equpment used to messure angles

Compass: equipment used to draw arcs and circks
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Beuwords

Verticaly Oppostte: angles formed when two or more stragnt ines cross at. a pont
Interior Ongks: angles insice the shape.

Sum: total, add al the. ntenor andes together

Convex Quadriaterak a four-sided polyson where. every ntenor angke s less than 180°
Concave Quadriiaterat  four-sided polygon where one. nfenior dangle exceeds 180°
Pobygon: 0 2D shape made with stragh. Ines

Scalere triange: a triangle with al dfferent sdes and anges

lsoscekes triange: @ trange with two angles the same size and two anges the. same size

Right-angled triange: a trangk. with a rght ange.
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Letter and labeling convention II Draw and measure ine seqments

The etter n the e s the ange:
The ac represents he gk

e

Ongle Notation: trvee letters ABC
T s the ange oL B - 113°

Line Notation: two etters EC
The ne that jons € to C
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%PM St up the prodem o curks and explan o ressorng i each pont vsrg ange olaton pe————
G | OngeDEF - 51° because s a vertialy oppostte ange DEF - GEH rotes together
E 510 2 Trangk DEF s soscels tange notaton) . EOF = EFD and the sum of nteror anes s 180°

H 180° - 5P - Lae 19 + 2 - 645°
F EDF= _ ° 3 Orgk EDF - 645°




